b‘hﬁ%’?‘%@%ﬁﬁﬁiﬂl:o

Wt
. &M - ERRZHZZ AR

ERVE &
s EAARE ERRE 8 HS AR KR

&k 3

KEDBARRS

B KGH AR BRRES s KBHLARDS SERZ

12.3% 47.4% 52.6%
NA=y N <0 .07
THBOEE rr——astte——= 87.7% THREE —————ea
11.4% 88.6% 41.6% 58.4%
BRTHEE reee———————maee—————— SHTEE - ="
0,
R 22.9% =N 52.6% 47.4%
B e |y, SRFE et
17.3% 44.3% 55.7%
ATISEE o 82.7% SHI3EE :
22.9% N 49.4% 50.6%
%fﬂélfﬁfi m 771% 'I_'J}FDAQEFE ==FFF— 1515
0 500 1000 1500 2000 0 1000 2000 3000 4000
LB AKREZ SRS
Ef5ifee =HEHRD = [fjze sE£HmR2
‘ 61.7% 38.3% ‘ 83.7% 16.3%
AT RES———— e = EHB0TFE =0
54.4% 45.6% 79.0% 21.0%
HRTEE —eee———————gae——= STICEE —mmar——————pg=
64.0% 36.0% 85.1% 14.9%
AT e ge B2 ————ge—————ap ’
58.3% 41.7% 80.4% o,
ST BRI ——ggd 9-6%
67.2% 32.8% 85.1% 14.9%
SN 4 R mo GRAEE 58
0 500 1000 1500 2000 0 1000 2000 3000 4000
2. DA - FELARZER I —ROREREDZZIKR
InAKRZZZRA
—— 7 — R URREZDE W B RTSER (%)

-k 80 4F iE

2 AR

S 34EE 4 T4 4F BE




—— 7 —RUHNGHE  —m-eRRER (%)
R 30 4 A T AR A2 A Ay F0 3 AR AT AR
Lo CoawT RS w2 & 184

3. ERMAERERD. RUSHERDFRERENZZKR

RERENZZE S
mEG mEY mEE - 2o (%)

&
=
o
1
Py

4. RETFHAENEE

FHRENEE
BETFHN mAvE—Fv b+ mEFE = (%)
TRk 28 5

it

- o

FRL29F E

FR30ERE

[any

||

SHMTEE

SM2EE

S 3FE

SMaEE

N|‘



5. BETAL—CFERNR

FR30F E

SMTEE

o2 FE

DM 3 FE

SMAEE

BRAL—CFHBMRANEE

BA0EAE mA0RR S msoRkft meorkft m70AR Y m8oRkfLLL L (%)




